ERRAROBRBIE®RT — 2 X—XBISH—F 20165E9A 218 (k) 13E&HE2H
Pl 5 35 5 Yo% 3K ‘ ] 2 ‘ [(BErmE]  — | 4 (&) 14000 FE
[AE£] 1% :230,000” ~ 2%&:46,000” ~ 337%&:23,000 ™ . 43&:14,000 " 53 :9,000 0
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i g EZTL Yy b i3 ﬂAIJE%EB— 1:(3_1).5 1-1-1-1 [39.8 | — 2 | 447 Qgi{(%ﬁ@
LALNTYFAE BRTULINLY b U7 | agnsgig

s = o FEBHE :32. ~7-6- . = R (BHE)
2 4 ZZHIATILR 4 3 5.0 (12312/20) 6-7-6-4 39.6 1 (4_217) 7‘](#525&
L:2=/FXLlLy b BRZIHIE— N=tie)

v FZ S 4t 3 | A L3 1:32.0 4-4-3-2 | 40.0| — 8 370 |BHEE (BHE)
3/8|9|FVFEYT 540 757) oy |
LixTvH/xeF BiLvIqH EE &

. . s 3 | LB 1:32.7 7-5-5-3 | 40.5| — 3 473 | EShEEA (BEHE)
4]5|5| V-t bTAR 54.0 @ o | B 7r-xtEvas
R:T—9T74=-X B4 A= TTFX HET7—L
S s s HBEB/Z :34. 02— . — IR A (%542)

sHlg| V7 rEXxFS R 1(374)' oS |3 ° 3330) MRS
R:F4—TAHhA BN/ JFF)— BT
5 =0 # 3 | FRwE 1:34.1 3-3-4-6 | 42.0| — 7 456 | ETREA (BEHE)
6|11 |FTFRIVTTIET 56.0 (7€) © | # Ir-—ztevar
R:2FA4d—I K B:OXRERHAFM> EvJLy RIT7—L
7lglg| s k—nv ez it 3 éjil_%%ﬁ 1(:33/:2.)3 8-8-8-7 |41.7| — 4 431 gm%% (BEE)
QATA RTIN BRYTA Rt #9)  eTr—n
oA 3 o # 3 | BTE 1:34.6 5-6-7-8 | 42.1| — 5 442 | 1EMRBIE (BHE)
sl 7| ST xEYUD %53.0 (11/2) 49) W TrozREVas
L:F>T747 B:arduEUS B 77— L4
s KR 4 3 | BHEA 1:35.1 9-9-9-8 |42.3| — 9 451 | FREEA (BHE)
o) 2| VT A PTAY R 56.0 1/2) © | ) 77-2rEva>
L:G7—3IUT7> B:A-FLREAIL AFt A

® I—F—@EBIERL
13—7F— 3,6,1,9,7,4,5,8,2
Ao=5"= 3,6,1,9,5,7,4,8,2
3T—7— 3,6,9,1,5,4,7,8,2
43—+ — 3,9,5,4,6,1,8,(2,7)

[ N5
B R 3 2710 | | 71 K 3-4 170 | | # = 3-4 280/ | | 3EfE 3-4-9 7,510M
# B 3 1204 3-9 2,890M B E 3-4 260 EE 3-4-9 25,900

4 1609 4-9 2,420 B H 3-4 540
9 980

ABICOVWTRDTEEERROODE. TR LIV,




